slanda Pl Hoo 377
i EEEE VW TTndus, §iHssmia

i Phoma; +XTES-THATATA
HIEEHTT Fa: #371M5-115 1 43
L ) ; Bt sabiadivatanala ||
= Mannfacturer of Opio-Mechanical equigment for research, industey and education Eayciwwe standa I

Mirror/Optics Mount S5OM111-9S127H
L 273 M4 fixing screw
18,4 with plastic tip
M doep 137 M3x4 deep

2 holes
06,2

e

31

(R

EL..I Mdxs deep
"

M3x6 deep | ﬂj_ﬁ ﬁ

3 holes 205
Mirror/Optics Mount . 50M111-95127H-0
with adapter 50M11A0 MA bing screw
. I{/ with plostic fip
EliRE
E _Etzﬁ
r __':H = i
170
B .
i .
18.4_
343
Mirror/Optics Mount S50M111-95127H-45
with adapter 50M11A45
62,5

M4 fixing screw
with plastic fip




